FgArea: ['W1']
NC11 P6
2025-06-08 (Day 64)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH
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.00 -

.75 A

.50

. 25 A

.00 A

.15

.50 A

Warni

col ['FVIPH'] is missing

20

30

40

50

60




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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08:35 333 160.0 0.314 5| FHA@08:35 KENFEF (RAfEEIEE)
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2it]2997.0 (90%) 1440.0 3203 KEC: 2080.0, PH: 6.5
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FRV (ml plant-1)

ET (ml/hr/plant)
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large discrepency for begining water status (297:132.0), set to 297 ml.
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m=465, FV0=0 m=495, FV0=0 m=530, FV0=0
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9&0 9&5
m=1165n FV0=0

19.5 ~

19.0

18.5 A

18. 0 A

18.

18.

18.

18.

18.

18.

—0—

M_W

T
1165

1130 1135
m=1255n FV0=0

40 -

38 -

36

34

32 A

30 -

—0—

MW

1255

1256 1257 1258 1259

1260

20.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

m=965, FV0=0

00 A

—0—

95 -

90

85 -

80

M_W

9%0 9%5
m=1215m FV0=0

T
965

40 ~

38 -

36

34 -

32

-o— MW
30 -

12&0 12&5
m=1265m FV0=0

T
1215

1.0

0. 8 A

0.6

0.4 A

0.2 A
Warning: col "MW 1] missing

OO T T T T

0.0 0.2 0.4 0.6 0.8

.0

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

m=995, FV0=0
7107 —— MW
65 -
60 -
55 -
50 -
T T T
995 1000 1005
m=1230m FV0=0
40 -
38 -
36 -
—— MW
34 -
32 -
30 -
T T T
1230 1235 1240

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

40 A

35 -

30

25 -

20

40 ~

38 -

36

34 -

32

30 A

m=1025, FV0=0

—0—

M_W

T
1025

1630
m=1235n FV0=0

T
1035

M_W

T
1235

T
1240

T
1245




hour

1
1
12

13

15

16

140 -
145
115

0 0 N

:30
:00
10:
:00
:30
:00
12:
:00
13:
14:
14:
:00
15:
:00
16:

100

80

30
- 60

30

- 40

30
00
30
30

30
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%
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P6AW

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:45 320 160. 0 0.314 E BRi&e07:45 Bz (GRAERESE)
08:15 320 160.0 0.314 5| {Ri%e08:15 Bz (FAERSE)
08:55 320 160.0 0.314 = {Rig@08:55 B (KRAERSE)
09:30 320 160. 0 0.314 E 1BRi&@09:30 Bzl (RAERE)
10:00 320 160.0 0.314 5| {Ri%@10:00 B3 (GRAERSE)
10:30 320 160.0 0.314 =l {Ri%@10:30 B3 (RAERSE)
11:00 320 160.0 0.314 =l RiB011:00 Bah (REAEEE)
11:30 320 160.0 0.314 5 {Ri%e11:30 Bz (RAERSE)
12:00 320 160.0 0.314 =l {Rige12:00 B3 (RAERSE)
12:30 320 160.0 0.314 S {Rige12:30 B3 (RAERSE)
13:00 320 160. 0 0.314 E| {Rig@13:00 B3h (RE{ERESE)
13:30 320 160.0 0.314 F BRi%e13:30 Bz (GRAERSE)
14:00 320 160.0 0.314 S| {Rige14:00 B3 (RAERSE)
14:30 320 160. 0 0.314 E BRige14:30 Bz CGRAERESE)
15:00 320 160.0 0.314 F BRige15:00 Bz (GRAERE)
15:30 320 160.0 0.314 = {Rig@15:30 B3 (RAERSE)
16:00 320 160.0 0.314 E BRige16:00 Bzl (GRAERESE)
16:30 320 160. 0 0.314 = Ri8016:30 Bah (RAEESE)
24t]5760.0 (18X%) 2880. 0 323 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2170.0 vs 4758.0) i3



P6AW_W1, Day=62 (2025-06-06)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 1y vo, FRV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET 5559 6000
4084
100 L 4000
040
347
2100
50 760 1500 - 2000
67 Warning: lcol [FVI',| "FVO’'] missing I143
0 - -
¢ o vi —_— MW 930
300 + FRV maxM
200 - 28 =
------------------------------ - — — — — — — - — N S S S S S S S S S S S e e e o E
100 - - 26
1.0 24
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800 A
optEC0=2600. 0, setECB=2080.0 o ® —>—  ECB*10%
i ° o0 0 g 0 O °
2200 .'0 e 09 e®%0 o ° ® ECC
A S L LT T T e S I HH—H I I H IR IR~ — — F ——————F——————f === =]
2000 -
1900 -
7.0y optPHO=6.5  setPHB=6.5 —¢  PHB*10%
® PHC
6.5 fF———————————— e S — ——————mm e
e o o0
6.0
: 4
4004 Bylnit @64 02:05: ET=2635 Fg=3200.0 Ro=492.0 ¢ 1000
1
i I & o e —©
300 i / p —-— <— L 3000
200 - I - 2000
| /
1
' — 1l
1
0 g ¢ @ 0
0 1 2 3 4 5 6 7 ) 9 [ 10 [ 11 [ 12 13 ] 14 [ 15 ] 16 [ 17 ] 18 19 ] 20 21 | 22 [ 23
007w (zz| B m | BB B BB B B 5 | B [ B | B | B 5 5 B 5 5 5 B & | 4000
1
i . . = = = 1
3001 ByEt @D62 19:34: ET=2641 Fg=3040.0 Ro=nan — 2 oo lo o o o |30
P e—o—o
200 A |/|/ \.\ : - 2000
1
100 - e N B il 1 i | 000
1
0 — — — — s—— 0
0 1 2 3 4 5 6 7 ) 9 J10 [ 11 |12 13 ] 14 [ 15 ] 16 | 17 ] 18 [ 19 ] 20 21 | 22 | 23
007w [zz| B B B[ B 5 | B [ B | B | B 5 5 5 5 5 5 5 REAREEREESERS R YL
1
300 1 ByWoFv @D64 02:05: ET=2347 Fg=2880.0 Ro=575.0 | 2000
i & o & o & o
] //\/ o — & —©
200 - : ~ L 2000
1
| i rail TS _
100 | . 1000
1
1.0 y 2 82— f— | e 0
: 0 1 2 3 4 5 6 17 [ 18 | 19 | 20 | 21 | 22 | 23
el B IZZ B | B | % | % | % 5| % 221521821521 5%
0.6 -
0.4
0.2
0.0
1500 4 _ 4
[ ] | _obs
1000 - —8— PPFD obs

500 -

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



28.

28.

27.

27.

27.

27.

27.

27.

27.

27.

26.

26.

27.

27.

27.

27.

26.

26.

26.

860
m=570,n FV0=0

—0—

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50 -

5%5 5é0
m=695,n FV0=0

760 765
m=810,n FV0=0

m=480, FV0=0

26.0

25. 8 -

25.6

25. 4 -

25. 2

25.0 A

480

4é5 4é0
m=610,n FV0=0

27.75 + —@—

610

6%5 GéO
m=725,n FV0=0

27.4 -

27.2 4

27.0 A

26. 8

26.6 -

—— MW

i

725

750 7é5
m=840,n FV0=0

26.9 A

26. 8 -

26. 7 A

26. 6

26.5

26. 4 -

26. 3 -

-o— MW

iy
™

840

845 850

27. 25 A

27.00 A

26. 75 A

26. 50

26. 25 A

26. 00

28.

27.

27.

27.

27.

27.

27.

26.

26.

26.

26.

26.

26.

m=515, FV0=0

5&0 5é5
m=630,n FV0=0

—0—

Gé5 6&0
m=755,n FV0=0

760 7é5
m=870,n FV0=0

27.

21.

217.

27.

26.

26.

21.

27.

21.

21.

26.

26.

21.

27.

27.

27.

26.

26.

26.

26.

26.

m=550, FV0=0
-o— MW
5%0 5%5 560
m=665,n FV0=0

—o— MW

iy

665 6%0 6;5
m=780,n FV0=0

7é0 7é5 750
m=910,n FV0=0

1T —e— mw

910 915 920




m=930, FV0=0

27.0

26. 8 -

26. 6

26. 4

—o—

M_Ww

930

T
935

940

m=965, FV0=0

26. 7

26. 6

26.5 -

26. 4 -

26. 3 -

26. 2

—o—

M_W

965

T
970

975

m=995, FV0=0

26.9

26. 8

26. 7

26. 6

26.5 -

26. 4

—o—

M_W

T
995

T
1000

T
1005

m=1020, FVO=0
—— MW
27.2 4
27.0 A
26. 8
26. 6
T T T
1020 1025 1030




hour
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P6AW

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:15 320 160.0 0.314 F BRige07:15 Bz (GRAERESE)
07:50 320 160.0 0.314 = {RRi8007:50 B (RFAKEE)
08:45 320 160.0 0.314 |Z=| 1Ri%e08:45 Bz (KREEZEHE)
09:20 320 160.0 0.314 FA| 1BRi%@09:20 B3zh (KA{EREE)
09:55 320 160.0 0.314 FA| 1Bi&@09:55 B3 (FKAAFEREE)
10:30 320 160.0 0.314 FA| 1B2i%@10:30 B3zh (RABIERSE)
11:05 320 160.0 0.314 FA| 1BRi%@11:05 B3h (RAHERSE)
11:40 320 160.0 0.314 FA| 1BRi%@11:40 B3h (kAEREE)
12:15 320 160.0 0.314 FA| 1Bike12:15 B3 (KRAEREE)
12:50 320 160.0 0.314 FE| 1BRi&@12:50 Bzh (RAEREE)
13:25 320 160.0 0.314 |2 =| 1Ri%e13:25 B (REZBE)
14:00 320 160.0 0.314 |Z=| 1Ri%e14:00 Bz CGREAEZEBE)
14:35 320 160.0 0.314 |Z=| 1Ri%e14:35 B (KREEZERE)
15:15 320 160.0 0.314 |2 =| 1Ri%e15:15 Bz (REEZEBRE)
16:00 320 160.0 0.314 |2 =| 1Ri%e16:00 Bz (REEZEBE)
21t 4800.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE ‘
MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2143.0 vs 4775.0) 45



P6AW_W1, Day=61 (2025-06-05)

------------------------------------------------------------------------------------- L 6000
150 1y, VeR88Rv, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET
4084
100 L 4000
2800
204 2100 240
50 - 742—2000
33 Warning: lcol [FVI',| "FVO’'] missing 67
0 -0
_ ( o v _— MW 30
T 300 FRV maxM
t
©
=
E
>
&
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 ° ° ° —¢—  ECBx10%
2200 - * o o..“ ®e o, ® ECC
S LT ST S TP S K ——————f——————f-———-—f ===}
2000 -
1900 -
7.0 optPHO=6.5, setPHB=6.5 —¢  PHB*10%
® PHC
o o
6.5 fF————————————— e X~ —————mmmmm ]
e
6.0 -
; L 4000
~ 300 Bylnit ®D64 02:05: ET=1868 Fg=2720.0 Ro=851.0 +
< I L 3000
- ! e o e o e ©
2 200 - ! —_— T~ —eo—o—o
£ , L 2000
: ! 11
100 ~ i B L 1000
o 1
015 1‘2'344 5 6 7 8 9 [ 10 11 [12]13] 14 ] 15 ] 16 17ﬁzo 21 1 22 | 23 | 2000
- 300 A5 5 5 | 2| B 5 B i FA [A A FA FA [A A FA 3] [A A FA FA [A A FA
5 oa. | eT— _ _ i L 3000
Ezoo— ByEt @D61 19:28: ET=1857 Fg=2240. 0 Ro=nan /\ Py : . . . .
é \/ \/ : >4 >4 @ ® - 2000
: il !
100 ~ i L 1000
o 1
1
0 2—=2 2 = - 9000
01 11 21 31 41151 61 7181 9 [10] 11 [12] 131471516717 18197207 21 [ 22 23
gsm—ﬁi BE BB |2=| B BE B B [Z=]| FA A FA EREAREEAEEA EEAEEA N FA EHERSEZS R
& - 3000
— ByWoF @D64 02:05: ET=1742 Fg=2400.0 Ro=70
<< 200 yov, § il e e & o
= , \/\/ o—o—o—o L 2000
~N
: ! ill
100 ~ i L 1000
-
] 1
1015 1‘2’344 5 6 7 ) 9 [ 10 11 1213 ] 14 15 ] 16 17ﬁzo 27 122123 [°
0ol B | B | M B | M | % | % | [B=| W | W | B | W (2222122221220 | B | W 22|52 W
0.6 -
0.4
0.2
0.0
1500 4 _ 4
[ ] | _obs
1000 - —@— PPFD_obs
500 -

100

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



25.

27.

27.

27.

27.

27.

26.

28.

27.

27.

27.

27.

27.

26.

28.

28.

27.

27.

27.

660 860
m=580,n FV0=0

T
1000

—— MW

5é5 560
m=730,n FV0=0

0_

—o— MW

i

7é5 7&0
m=885,n FV0=0

2 4

0_

- MW

~

885 890 895

m=440, FV0=0
—— MW
27.0 -
26.5 -
26.0 -
T T T
440 445 450
m=610,m FV0=0
—o— MW
27.8 -
27.6 -
27.4 -
27.2 -
27.0 -
26.8 -
T T T
610 615 620
m=770,m FV0=0
28007 o
27.75 4
27.50 -
27. 25 4
27.00 -
26. 75 -
770 775 780
m=930,m FV0=0
—— MW
28.2 -
28.0 -
27.8 -
27.6 -
27.4 -

930 935 940

m=485, FV0=0
—— MW
27.8 -
27.6 -
27.4
27.2
27.0 A
T T T
485 490 495
m=650,m FV0=0
—— MW
27. 4 -
27.2 -
27.0
26. 8 -
26. 6
T T T
650 655 660
m=820,m FV0=0
—o— MW
27.75
27. 50 A
27.25
27.00 A
26.75
820 825 830
m=960,m FV0=0
-— MW
28. 4
28. 2 -
28.0
27.8 -

960 965 970

m=540, FV0=0

27.8 -

27.6

27. 4 -

27.2 A

27.0 A

26. 8

—— MW

5&5 560
m=690,n FV0=0

27.75 A

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50 A

T
690

695 700
m=855,n FV0=0

28.0 A

27.8 -

27.6

27. 4 -

27.2 A

27.0 A

26. 8 -

—o— MW

855

860 865




hour

1
1

12

13

15

© o0 oo

:00

:05
140
10:
10:
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140
12:
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13:
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14:
14:
15:
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40
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P6AW

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

08:00 320 160. 0 0.314 F|  {Ri%008:00 Bzh (RF{EESE
08:30 320 160. 0 0.314 | 1Ri%e08:30 By (RFAEREE)
09:05 320 160.0 0.314 = {RRiB009:05 B (RAKEE)
09:40 320 160. 0 0.314 E BRi%e09:40 BE1 (RAERE)
10:10 320 160.0 0.314 F[ BRige10:10 Bz CGRAERESE)
10:40 320 160.0 0.314 = RRiB010:40 Bz (REAKEE)
11:10 320 160. 0 0.314 El BRige11:10 Bz CGRAERESE)
11:40 320 160. 0 0.314 = RiB011:40 Bah (GRAEESE)
12:10 320 160.0 0.314 =l RiB012:10 B3 (REAKEE)
12:40 320 160.0 0.314 5| RiRe12:40 Bz (GRAHERESE)
13:10 320 160.0 0.314 S| {Ri%e13:10 Bz (RAERSE)
13:40 320 160.0 0.314 | Ri%e13:40 B (GREfRREEE)
14:10 320 160. 0 0.314 E BRige14:10 Bz CGRAEESE)
14:40 320 160.0 0.314 = RiB014:40 Bah (RAEESE)
15:10 320 160.0 0.314 =l RRiBe15:10 Bz (REAEESE)
15:40 320 160.0 0.314 =l RRiB015:40 Bz (REAKEE)
16:10 320 160. 0 0.314 El BRi&e16:10 Bz CGRAEREE)
23t 5440.0 (170%) 2720.0 FEWHKEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2187.0 vs 4598.0) i3



P6AW W1, Day=60 (2025-06—04)

------------------------------------------------------------------------------------- L 6000
150 1y, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 5288
100 3828 L 4000
2800 2880
2100 101
50 4 898 L 2000
163 Warning: lcol [FVI',| "FVO’'] missing 33
0 - -
. ( o vi —_— MW 930
T 300 FRV maxM
+
s
2 200 - - 28 =
T O R E SR S - o Y S S b o P N =
- I i
>100_ l | — — — — | — — - un --! !!! "26
(o'
[
1.0 24
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 —¢—  ECBx10%
2200 - ® ECC
A S L LT T e S H—g—ﬁ—x—y—;—g—g—x—x—g—%—x—x—x—x—x -------------------------
P o ® o9
2000 - 0o ©
1900 -
7.0 optPHO=6.5, setPHB=6.5 —¢  PHB*10%
® PHC
000000 000 0 O °
o000 0 ©
6.5 P e e T T S VIR R AR P R TR S LRGN IR SGe—
6.0 -
400 - I "
— Bylnit @D64 02:05: ET=2252 Fg=3040.0 Ro=835.0 4000
Esoo— 1
s ! e o o L 3000
N
o 1 e & ©
< 200 l - 2000
E :
. 100 4 i - 1000
] 1
1
L & @ & @ 0
4087 0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 | 12 [ 13 | 14 | 15 | 16 | 17 [ 18 | 19 [ 20 | 21 | 22 | 23
o % | % | 75 | A | W | s | R | # | s | R | m& | s | FR | m& | e | #R | m& | e | @R | m& | & | @& | m& | & | 200
= 1
$ 300 -
— ByEt @D60 19:03: ET=2533 Fg=2880.0 Ro=nan - 3000
= P /\ y e 4 o e e o
£ 200 - l1/ s ; & o e —=o | 2000
£
A I
. 100 4 V III i - 1000
] 1
1
s 8 8 @ & & 0
4087 0 1 2 3 ] 5 6 7 8 9 [ 10 | 11 [ 12 [ 13 ] 14 [ 15 | 16 | 17 | 18 | 19 [ 20 [ 21 | 22 | 23
o | % [ m | | [ m | | w [ m | we | w [ m |6 | w [ m | we | w [ | e | w [ m | | m | m |00
= 1
$ 300 -
— B F D64 02:05: ET=21 Fg=2720.0 Ro=702. - 3000
= yWov?GOOS 01 Fg 0.0 Ro=702.0 /\ / ° ° ° ®
R . _
< 200 : rl/ W " L 20w
£
~—~ I
= 100 1 | A I II \ - 1000
1
10k S 2 £ % " v = 0
: 0 1 2 3 7 5 6 7 8 9 [ 10 [ 11 [ 12 13 [ 14 15 [ 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 HEE Hi E3 E3 ES ES E3 E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 -
0.2 -
R
[ ] | _obs
—@— PPFD obs

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

21.

27.

27.

26.

26.

27.

27.

27.

26.

26.

26.

27.

27.

27.

27.

26.

26.

860
m=575,n FV0=0

—0—

5é0 5é5
m=700,n FV0=0

765 7%0
m=840,n FV0=0

26.

25.

25.

25.

25.

25.

24

27.

27.

27.

27.

26.

26.

27.

27.

27.

27.

26.

26.

27.

217.

27.

27.

26.

26.

m=485, FV0=0

—o— MW
485 490 495
m=605,m FV0=0
—o— MW
605 610 615
m=730,m FV0=0
—o— MW
730 735 740
m=875,m FV0=0

-— MW

=
B
iis

875 880 885

m=515, FV0=0

27.00 ~

26. 75 A

26. 50

26. 25 A

26. 00 ~

25.75 A

T T
515 520 525

m=635,m FV0=0

27.6

27. 4 -

27.2 A

27.0

26. 8

26. 6

T T
635 640 645

m=760,m FV0=0

27.6 -

27. 4 -

27.2 -

27.0 -

26. 8

26.6

760 765 770

m=909,m FV0=0

27.8

27.6

27. 4 -

27.2

27.0

26. 8 -

—— MW

905 910 915

m=545, FV0=0

27.6

27. 4 -

27.2 A

27.0 A

26. 8

26. 6

—— MW

T T
545 550 555

m=665,m FV0=0

27.6 A

27. 4 -

27.2 A

27.0 A

26. 8

26.6

T T
665 670 675

m=800,m FV0=0

27.6 A

27. 4 -

27.2 -

27.0 -

26. 8

26. 6

800 805 810

m=930,m FV0=0

28.0 A

27.8 A

27.6

27. 4 -

27.2 A

- MW

930 935 940




m=965, FV0=0

28.0

27. 8 A

27.6 -
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